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QUESTION 1

What is the operational benefit of software licensing for a Cloud solution?
A. Operational costs are part of capital expenditure.

B. Platform costs are much more stable.

C. Server costs are lower.

D. Software licensing may no longer impact capital expenditure.

Correct Answer: D

QUESTION 2

Which communication protocol group is generally accepted on the Internet?
A. NetBIOS

B. OSI

C. SNA

D. TCP/IP

Correct Answer: D

QUESTION 3

Providing a user access to an application in the Cloud requires several steps. In which step are the user\\'s permissions
determined?

A. during the auditing phase

B. during the authentication phase
C. during the authorization phase
D. during the verification phase

Correct Answer: C

QUESTION 4
What is the most important feature of a virtualized environment?

A. Multiple applications can be used by a single user.
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B. Multiple computers can be connected to a single network.
C. Multiple operating systems can be used on a single hardware platform
D. Multiple users can be active on a single network.

Correct Answer: C

QUESTION 5

Why became the Ethernet standard popular for Local Area Networks (LANS)?
A. because the Ethernet standard was fastest

B. because the Ethernet standard was released for general use

C. because the Ethernet standard was suitable for mainframes

D. because the Ethernet standard was used by the largest vendor

Correct Answer: B
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